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waagerecht:

1 107332 + 128798 + 214663
5 121940 + 146328 + 243880
6 29009 + 34811 + 58019

9 157595 + 189114 + 315190
10 50009 + 60011 + 100018
senkrecht:

2 12648 + 15178 + 25296
18602 + 22322 + 37204
8774 + 10528 + 17547
3720 + 4463 + 7439
3119 + 3743 + 6238
7377 + 8852 + 14754
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Bei richtiger Losung ergibt die
Summe der eingekreisten Zahlen

45

die Losungszahl
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waagerecht:

1 38280 + 45937 + 76561

5 115147 + 138176 + 230293

6 73070+ 87685 + 146141

9 236468 + 283761 + 472935
10 237492 + 284990 + 474983
senkrecht:

2 15443 + 18531 + 30886
18728 + 22474 + 37456
21118 + 25342 + 42236
8797 + 10557 + 17595
15787 + 18945 + 31575
22525 + 27030 + 45051
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Bei richtiger Losung ergibt die
Summe der eingekreisten Zahlen
die Losungszahl 38
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